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[Type text]       jHdmdr i|yd m%udKd;aul l%u 

 
AA1/QMB 

 

 

 

 

 

 

 

 
 

wksjd¾h m%Yak 15ls' 

^uq¿ ,l=Kq 40& 

 

 

01 jk m%Yakh i|yd fhdað; W;a;r  

 
1.1 W;a;rh (3) 

 

            8y + 6   = 3y + 21 

 5y  = 15 

 y  = 15/5 

               

 

1.2 W;a;rh (2) 

 
            I = prt  P = 12 000, r = 12.0% =0.12, t = 3 

 

 I = 12 000 X 0.12 X 3 

 I = 4 320 

    

   

1.3   W;a;rh (3) 

 

 TC  = 3,000x - 4x2 +10 000 

 MC  = 30000 – 8x 

      

 

1.4 W;a;rh (4) 

            2x + y  = 14  

             3x + 2y = 24  

             W;a;rh ^.Kl hka;% Ndú;fhka& 
 X= 4, y= 6 

    

YS% ,xld .KldêlrK Ys,amSh wdh;kh 

wOHdmk yd mqyqKq lsÍï wxYh 

 

AA1 úNd.h - 2019 cQ,s 
(AA12) jHdmdr i|yd m%udKd;aul l%u 

 

fhdað; W;a;r 

A fldgi 
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1.5    W;a;rh (1) 

 
          Σx = 30, Σy = 180 , n = 6 

  

 y  = a + 2x.   

 a   =  y – b x 

             a    = (180/6) – (2 × 30/6) 

          a   =  20 

       

 

1.6 W;a;rh (2) 

 

 Nß; idudkH nr ;eîu idfmalaI     =  ∑ Xw 

     ñ, o¾Ylh                                              ∑ w 

 

                                                                             =  (115×7 + 110 × 8 + 118 × 10 ) 

                                                                        7 + 8 + 10 

= 114.6 

 

                                                                  = 115 

              

1.7 W;a;rh (3) 

 

 T = 483x + 6,636 

    2017 jir i|yd X ys w.h 7 

 

     T  = 483×7 + 6,636 

              = 10, 017 

       

 

1.8 W;a;rh ^3&
  

 A iy B hkq wfkHdakH jYfhka nysIaldr isoaê jkafka kï" 

 P(A∩B)  = P(A) + P(B) 

                        =  0.57 + 0.28  

                                  = 0.85         
 

 

1.9      W;a;rh (2) 

      

 E(X)  = ∑ X×P 

                      = (- 6,000× 0.3)+ (8,000 × 0.35) + (11,000 × 0.15) + (15,000 × 0.20) 

  = 5,650 
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1.10  W;a;rh ^1&
  

 iudka;r fY%aKsh : 22, 27, 32, 37, …… ys 20 jk moh fiùu 

  a  = 22,  d = 5 

  Tn  = a + (n – 1)d 

  T20  = 22 + (19 × 5) 

        = 117  

    

    

1.11     

 b;du;a by< w.hla we;s Okd;aul Y=oaO j¾;udk w.h (NPV) jkafka re.14,060 hs' 

 fyd|u wdfhdack úl,amh jkafka “ D “ 

 

 by<u wNHka;r M,od wkqmd;slh jkafka 22%  hs' 

  IRR l%uh wkqj fyd|u jHdmD;sh jkafka “ A “ h' 

 

 

 

 

 

 

1.12      
01 l%uh 

     iM, jd¾Isl wkqmd;slh = 1(1 + r)
n 

- 1    r =0.16/4 = 0.04, n = 4 

           = 1(1 + 0.04)
4 

  - 1  

      =  0.1699 

    =  16.98%  

    02 l%uh 

    A   = x(1 + r)n      r =0.16/4 = 0.04, n = 4  A= 100 

            = 100(1 + 0.04)4    

      =  116.99 

  iM, jd¾Isl wkqmd;slh           =  116.99 - 100 

                                                   =  16.98%  
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1.13    

,dN Ys%;h (TP) = wdodhï Ys%;h (TR) – msßjeh Ys%;h (TC)  

  TR  = 22x      

    TC  = 15x  + 12,600  

  TP  = TR – TC 

  TP  = 22x – (15x + 12,600)   

  TP  = 7x –12,600 

 

1.14 i;H m%ldYhls' 
 
1.15 wi;H m%ldYhls'  

^tllg ,l=Kq 02 ne.ska" uq¿ ,l=Kq 40& 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A fldgfiys wjidkh 
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wksjd¾h m%Yak y;rls' 

(uq¿ ,l=Kq 40) 

 
02 jk m%Yakh i|yd fhdað; W;a;r 
 

(a) 

mßÉfÊoh 02 - 1 fldgi - m%udKd;aul uQ,H - fmd,sh      
 

      A = P(1 + r)
n
 X = 500 000,  r = 9% =0.09, t = 3 

 

      S  = 500 000 ×(1.09)
3 

      S  = re. 647,514.50
 

 

     j¾I 3 wjidkfha § wef.a .sKqfï we;s uqo, re. 647,514.50 ls' 

 
^,l=Kq 03& 

 

(b)  mßÉfÊoh 2 - II fldgi - m%udKd;aul uQ,H - jÜgï lsÍu    

 

 (i) 01 l%uh 

 

         A = 75 000,  n = 3,  r = 0. 08 

 

                S x R 
n 
x (R-1)            

A          =                                  
                                               R

n
-1 

 

 
           X(1 + 1.08)

 3
X 0.08  

75 000  =                                  

                    (1+0.08)
3

 -1
 

  

 

 x  =   75 000 X 1.08
3x0.08   

              (1+1.08)
3  

-1 

              

=  7,558.272 

                             0.259712 

  

x  =   re. 29,102.51  

 

 jd¾Isl jdßlh re. 29,102.51 ls' 
 

^,l=Kq 03& 

B fldgi 
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 (ii) 02 l%uh 

 

j¾Ih Kh uqo, jdßlh DCF (8%) f.jQ uqo, 

0 75,000 - - - 

1 - A - - 

2 - A 2.577 2.577A 

3 - A - - 

   

     

=>2.577A             = 75,000 

 

A                         = 75,000 

                                              2.577 

 

                                         =  re. 29,103.60 

^,l=Kq 06& 

(c) 

 

 (ii) Kh l%ulaIh Wmf,aLkh 

 

 
 
 
 
 
 
 
 
 
 

 
^,l=Kq 04& 

^uq¿ ,l=Kq 10& 

 

 

 

 

 

 

 

 

 

 

 

j¾Ih  j¾Ih 
wdrïNfha 
f.úh hq;= 

uqo, 

f.úh hq;= 
fmd,sh 

jdßlh  wjidk 
fYAIh 

0 75,000 - - - 

1 75,000 6,000 29,103 51, 897 

2 51,897 4,151 29,103 26, 944 

3 26,946 2,156 29,103 - 
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03 jk m%Yakh i|yd fhdað; W;a;r 
 

(a) mßÉfÊoh 03 - uQ,H l¾uKH ñkqï    

 

,dN Ys%;h   = TR-TC 

                           = 20x + 3X
2
 -(4X

2 - 
500x +1500) 

                           = 20x + 3X
2 

 -4X
2 - 

500x +1500 

                           = 520X-X
2
-1,500 

 

,dN Wmßu wjia:dfõ §  = dp  =  520-2x
 

                                 dx 

 

                       2x =  520 

                        X =  tall 260 

 

úl,am W;a;rh 

 

MR = 20+6x 

MC = 8x-500 

MR = MC 

20+6x = 8x-500 

2X = 520 

X = tall 260 

 

^,l=Kq 05& 

(b) 

(i) TC =FC + VC 

TC = 2q
2
 + 5q+ 400 000  

^,l=Kq 02& 

 (ii) iuÉfÊok ,laIHfha § 

   TR   = TC 

  2q
2
 + 9q + 250 000  =  2q

2 
+5q+ 400 000 

 

                         4q  =400,000-250,000 
                   

       4q  =150,000 
                           q  = 37,500 

            

  iuÉfÊok m%udKh  = tall 37,500  

^,l=Kq 03& 
^uq¿ ,l=Kq 10& 
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04 jk m%Yakh i|yd fhdað; W;a;r 
 
mßÉfÊoh 04 - ixLHd;aul úia;rd;aul ñkqï 

 

 

(a) (i) uOHkHh   =   ∑ f(x)     =  6285      = 62.85  

                               ∑ f                100 

                                              ^,l=Kq 03& 
 

 

(ii) 

 

iïu; wm.ukh  =       ∑ fX
2
   -     X̅  

2 

                                  ∑ f           

   

                                      =       398,115        -    6285   
2 

                         100                  100 

 

                                   =     3,981.15 - 3,950.12 

 

            = 31.03 

                              

                                    = 5.5702  

^,l=Kq 04& 
 

 

 

 

 

 

 

wdhq ld,h 
^i;s& uOHia:h (x) 

negß .Kk 

(f) F(x)  F(x)
2
 

50 - 54 52 2 104  5,408 

55 - 59 57 29 1,653  94,221 

60 - 64 62 37 2,294  142,228 

65 - 69 67 16 1,072  71,824 

70 - 74 72 14 1,008  72,576 

75 - 79 77 2 154  11,858 

  ∑ f= 100 ∑ fX    =6,285  ∑ fX
2
=398,115 
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 (b)   mßÉfÊoh 07 - iïNdú;dj iy tys fh§ï II 

X : w¨; WmÈk <orejl=f.a nfrys iïNdú;dj (kg) 

µ=3.43  σ =0.65 

           Z        =     X  -  µ 

                          σ           

 

     0.0714   

 

 

              0.5 – 0.0714 = 0.4286   

 

                                                                                               x     

                                              3.43 3.55   

  z 

    0         + 0.18 

 

               Z                          =     x - M        =0.18 

                                  σ         

          Z                          =     3.55  -  3.43 =0.18 

                                       0.65         

               P(Z>0.18)            =    0.0714 

             

                P(XZ>3.55)        =    0.5-0.0714 

 

               P (X > 3.55 )       =  0.4286 

            

^,l=Kq 03& 
^uq¿ ,l=Kq 10& 
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05 jk m%Yakh i|yd fhdað; W;a;r 
 
mßÉfÊoh 05 - m%udKd;aul úp,Hhka folla iei£u  

 ∑ X =2,702,   ∑ Y = 3,864,   ∑ XY = 1,490,621,    

∑ X
2 

= 1,044,554,   ∑ Y
2 
= 2,134,110,   n = 7  

 

 (a)           b         =          n ∑ XY -  ∑ X . ∑ Y 

                                     n ∑ X
2
 -  (∑ X)

2
  

 

            b        =          7 X 1,490,621 – 2,702 X 3,864 

                                   (7X 1,044,554 )–(2,702)
 2

 

       

                            b        =         10,434,347-10,440,528 

                                  7,311,878-7,300,804 

                          

                              b      =          -6,181 

                    11,074 

                             b       =  - 0.55815 

 

                        Y    =  ∑ Y                                       Y    =  ∑x 

                                          N                                                          n 

         = 3,864                                             =   3,864 

                                           7                                                            7 

                                 =  552                                          =  386 

            

 a  = 𝐲̅ + bx 

                 = 552 - (-0.558) * 386 

                 = 552 + 215.388 

                = 767.388 

^,l=Kq 07& 
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(b) 

x = 350 wdfoaYfhka 
 

Y  = 767.388 – 0.558x 

Y  = 767.388 – 0.0558×350 

Y  = 767.388 – 195.3 

Y  = 572.088  

 

fmd;a úl=Kqïj,ska ,o wdodhu re. 572 

 
^,l=Kq 03& 

^uq¿ ,l=Kq 10& 
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wksjd¾h m%Yakhls' 

(,l=Kq 20) 

 

06 jk m%Yakh i|yd fhdað; W;a;r  
 

 (A) mßÉfÊoh 06 - 1 fldgi - o¾Yl wxl 

 

P1 P0 q0 p1 p1q0 p0q0 

155 120 45 155 6,975 5,400 

105 80 25 105 2,625 2,000 

100 75 60 100 6,000 4,500 

    ∑=15,600 ∑=11,900 

  

,eiamshf¾ ñ, o¾Ylh ( 01LP )  = 100
)(

)(

00

01









qp

qp

 
 ^yß; iudydr ñ, o¾Ylh& 

      = 100
11900

15600
  

      =  131.09  

^,l=Kq 04& 

(B) mßÉfÊoh 06 - 2 fldgi - ld, fY%aKs 
 

( i )  a  = 260 + 280 + 290 + 300    =  1130/4 = 282.5  

                                      4 

 

  b  =  280 + 290 + 300+ 320    = 1190/4  = 297.5  

                                    4 

 

  c  = 270 + 282.5    = 276.25 

                                      2 

 

  d  = 282.5 + 297.5      = 290  

                2 

 

  e   =    260            =  0.99 

         263.125 

 

  f   =     280            = 1.01 

             276.25 

 

^,l=Kq 06& 

C fldgi 
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(C) mßÉfÊoh 07 - iïNdú;dj iy tys fh§ï 1 
     

 (a) 0.96          fodaI rys;   

   A 

   0.16              0.04           fodaI iys;   

 

 0.97 fodaI rys;     

0.5 B 

 0.03 fodaI iys;    

                                           0.34 0.93 fodaI rys;   

 C 

 0.07 fodaI iys;   

^,l=Kq 04& 

 

 

 (b) (i)   

          (0.16*0.04)+(0.5*0.05)+(0.34*0.07) 

        = 0.0064+0.015+0.0238 

         = 0.0452 

^,l=Kq 03& 

 

(ii)    0.5*0.03 

        = 0.015 

^,l=Kq 03& 

^uq¿ ,l=Kq 20& 

 

 

 

 

 
C fldgfiys wjidkh 
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Notice:  

 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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